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2 2 20N F v kB 8) 11t 1t 2.5t 3.5t 3.8t 451
X = h = Pr~x— Pr~v— v — rrx— Pro~x— Pr~x—
it =R C10R C12R C30R Cb0R-2 | CH0R-3 C60R
BEHBERES kg 810 880 2,100 4,600 5,290 6,370
£ £ A ™ 2,730 2,570 3,200 4,135 4,540 4,745
EQ B B T 950 950 1,690 2,000 2,000 2,585
i £ = C M 1,325 1,355 1,845 2,440 2,675 2,580
& B&H DL B D M 720 720 1,200 1,500 1,550 1,800
- | E ] g E ™ 230 230 320 500 450 600
% 2T ZDOEE F T 1,430 1,1803% 1,915 2,855 3,190 3,050
= K # £ 5§ G T 145 150 285 450 433.5 465
= ES £ H T 1,600 1,470 1,685 2,325 2,700 3,025
o+ 3% En e | T 830 830 1,410 1,850 1,850 2,100
£ a5 J " 320 320 370 300 300 350
e B & 7 = kg 990 990 2,500 3,600 3,800 4,500
4 Nyt VBE<TERE / B> m | 0.4/053 0.4/0.62 | 0.88/1.24 1.3/2.17 1.4/2.3 1.95/3.27
x> 7 A & 60 58 b8 60 65 60
E1T| Bl & km /h 0~5bb 0~55b 0~11 0~10 0~92 0~10
RE| #® & km /h 0~55b 0~55b 0~11 0~10 0~92 0~10
HE T 8 9B B PS/rom | 8.8/3,000 | 10.5/2,800 | 34.7/3,000 | 100/2,600 | 97.9/2,200 | 130/2,600
ME s> OBE 0 9 145 40 64 82 78
% A M 2 2 28 e e 28
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